ACTIVITY -4

Q-1. Divide and check :

1. 4787+9 9 T 4787 1531
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Check :  Divisor x Quotient + Remainder

= 9x531 +8
= 4779 +8
= 4787 = Dividend
2. 13865 +6 6 138651 2310
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-18
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Check :  Divisor x Quotient + Remainder

= 6x2310 +5
= 13860 +5
= 13865 = Dividend

3. 62817 +9 9 T 6281716979
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Check :  Divisor x Quotient + Remainder

= 9Xx6979 +6
62811 +6
62817 = Dividend

6.. 759+15 15 | 759 150
75
9

Check :  Divisor x Quotient + Remainder

= 15x50 +9
= 750 +9
759 = Dividend

7. 4287 + 21 21 | 4287 1204
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Check :  Divisor x Quotient + Remainder

= 21x204 +3
= 4284 +3
4287 = Dividend



